

## DEGENERATE POLYEXPONENTIAL FUNCTIONS AND POLY-EULER POLYNOMIALS

BURAK KURT

ABSTRACT. Degenerate versions of the special polynomials and numbers since they have many applications in analytic number theory, combinatorial analysis and  $p$ -adic analysis. In this paper, we define the degenerate poly-Euler numbers and polynomials arising from the modified polyexponential functions. We derive explicit relations for these numbers and polynomials. Also, we obtain some identities involving these polynomials and some other special numbers and polynomials.

### 1. Introduction

Throughout this paper,  $\mathbb{N}$  denotes the set of natural numbers,  $\mathbb{N}_0$  denotes the set of nonnegative integers and  $\mathbb{R}$  denotes the set of real numbers. We begin by introducing the following definitions and notations ([1–15]).

The classical Bernoulli polynomials  $B_n(x)$ , the classical Euler polynomials  $E_n(x)$  and the classical Genocchi polynomials  $G_n(x)$  are defined by the following generating functions ([2–15]) respectively;

$$(1) \quad \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \left( \frac{t}{e^t - 1} \right) e^{xt}, \quad |t| < 2\pi,$$

$$(2) \quad \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} = \left( \frac{2}{e^t + 1} \right) e^{xt}, \quad |t| < \pi$$

---

Received May 18, 2020; Revised June 5, 2020; Accepted June 26, 2020.

2010 *Mathematics Subject Classification*. Primary 11B68, 11B73, 11B83, 05A19.

*Key words and phrases*. Bernoulli, Euler and Genocchi polynomials and numbers, the degenerate Stirling numbers of both kind, degenerate Bernoulli, degenerate Euler and degenerate Genocchi polynomials, polyexponential functions, modified degenerate poly-Bernoulli polynomials, modified degenerate poly-Genocchi polynomials.

The present investigation was supported by the Scientific Research Project Administration of the University of Akdeniz. The author would like to thank the referees for their helpful comments and suggestions.

and

$$(3) \quad \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} = \left( \frac{2t}{e^t + 1} \right) e^{xt}, \quad |t| < \pi,$$

when  $x = 0$ ,  $B_n(0) = B_n$ ,  $E_n(0) = E_n$  and  $G_n(0) = G_n$  are called the Bernoulli numbers, the Euler numbers and the Genocchi numbers, respectively.

For  $(\lambda \neq 0) \in \mathbb{R}$ , the degenerate exponential function is defined by ([4–13]);

$$(4) \quad e_{\lambda}^x(t) = (1 + \lambda t)^{x/\lambda} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad e_{\lambda}(t) = e_{\lambda}^1(t) = (1 + \lambda t)^{1/\lambda},$$

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda)$ ,  $n \geq 1$ .

Carlitz ([2,3]) considered the degenerate Bernoulli polynomials  $B_{n,\lambda}(x)$  and the degenerate Euler polynomials  $E_{n,\lambda}(x)$  which are given by, respectively,

$$(5) \quad \frac{t}{e_{\lambda}(t) - 1} e_{\lambda}^x(t) = \frac{t}{(1 + \lambda t)^{1/\lambda} - 1} (1 + \lambda t)^{x/\lambda} = \sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}(x) \frac{t^n}{n!}$$

and

$$(6) \quad \frac{2}{e_{\lambda}(t) + 1} e_{\lambda}^x(t) = \frac{2}{(1 + \lambda t)^{1/\lambda} + 1} (1 + \lambda t)^{x/\lambda} = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \frac{t^n}{n!},$$

when  $x = 0$ ,  $B_{n,\lambda}(0) := B_{n,\lambda}$  and  $E_{n,\lambda}(0) := E_{n,\lambda}$  are called the degenerate Bernoulli numbers and the degenerate Euler numbers, respectively.

Lim [14] considered the degenerate Genocchi polynomials which are given by

$$(7) \quad \frac{2t}{e_{\lambda}(t) + 1} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} \mathcal{G}_{n,\lambda}(x) \frac{t^n}{n!},$$

when  $x = 0$ ,  $G_{n,\lambda}(0) := G_{n,\lambda}$  are called the degenerate Genocchi numbers.

From (6) and (7), we get

$$G_{0,\lambda}(x) = 0 \text{ and } E_{n,\lambda}(x) = \frac{G_{n+1,\lambda}(x)}{n+1}, \quad n \geq 1.$$

The degenerate Stirling numbers of the first kind  $S_{1,\lambda}(n, k)$  are defined by ([7, 9, 11])

$$(8) \quad \frac{1}{k!} (\log_{\lambda}(1+t))^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!}, \quad k \geq 0.$$

Note here that  $\lim_{\lambda \rightarrow 0} S_{1,\lambda}(n, l) = S_1(n, l)$ , where  $S_1(n, l)$  are the Stirling numbers of the first kind given by ([4, 11])

$$(9) \quad \frac{(\log(1+t))^k}{k!} = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad k \geq 0.$$

The degenerate Stirling numbers of the second kind are defined by ([7,9,11])

$$(10) \quad \frac{(e_\lambda(t) - 1)^k}{k!} = \sum_{n=0}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}.$$

Observe that  $\lim_{\lambda \rightarrow 0} S_{2,\lambda}(n, l) = S_2(n, l)$ , where  $S_2(n, l)$  are the Stirling numbers of the second kind given by ([4, 11])

$$(11) \quad \frac{(e^t - 1)^k}{k!} = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad k \geq 0.$$

The degenerate Bernoulli polynomials of the second kind are given by [8]

$$(12) \quad \frac{t}{\log_\lambda(1+t)} (1+t)^x = \sum_{n=0}^{\infty} b_{n,\lambda}(x) \frac{t^n}{n!}.$$

Note that  $\lim_{\lambda \rightarrow 0} b_{n,\lambda}(x) = b_n(x)$ , where  $b_n(x)$  are the Bernoulli polynomials of the second kind given by

$$(13) \quad \frac{t}{\log(1+t)} (1+t)^x = \sum_{n=0}^{\infty} b_n(x) \frac{t^n}{n!}.$$

## 2. Degenerate poly-Euler numbers and polynomials

In this section, we consider the modified degenerate polyexponential functions. We give explicit relations for the modified degenerate polyexponential functions. By using the modified degenerate polyexponential functions, we introduce the degenerate poly-Euler numbers and polynomials.

Also, we give some relations and identities for these polynomials.

The polyexponential functions are defined by the following generating functions ([6–8, 10, 13]);

$$(14) \quad \text{Ei}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k (n-1)!}, \quad k \in \mathbb{Z}.$$

For  $k = 1$ ,  $\text{Ei}_1(x) = e^x - 1$ .

The modified degenerate polyexponential function are given by ([6–8, 10, 13]);

$$(15) \quad \text{Ei}_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n^k (n-1)!} x^n, \quad \lambda \in \mathbb{R}.$$

Note that,

$$\text{Ei}_{1,\lambda}(x) = \sum_{n=1}^{\infty} (1)_{n,\lambda} \frac{x^n}{n!} = e_\lambda(x) - 1.$$

For  $k \in \mathbb{Z}$  and by means of the modified degenerate polyexponential function. We define the degenerate poly-Euler polynomials by the following generating

functions:

$$(16) \quad \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(k)}(x) \frac{t^n}{n!} = 2 \frac{\text{Ei}_{k,\lambda}(\log_{\lambda}(1+t))}{t(e_{\lambda}(t)+1)} e_{\lambda}^x(t).$$

When  $x = 0$ ,  $\mathcal{E}_{n,\lambda}^{(k)} := \mathcal{E}_{n,\lambda}^{(k)}(0)$  are called the degenerate poly-Euler numbers where  $\log_{\lambda}(t) = \frac{1}{\lambda}(t^{\lambda} - 1)$  is the compositional inverse of  $e_{\lambda}(t)$  satisfying  $\log_{\lambda}(e_{\lambda}(t)) = e_{\lambda}(\log_{\lambda}(t)) = t$ .

For  $k = 1$ , we get

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(1)}(x) \frac{t^n}{n!} = \frac{2}{e_{\lambda}(t)+1} e_{\lambda}^x(t).$$

From (16), we can easily deduce the following relationships involving the modified degenerate poly-Euler polynomials

$$(i) \quad \mathcal{E}_{n,\lambda}^{(k)}(x) = \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{m,\lambda}^{(k)}(x) (x)_{n-m,\lambda},$$

$$(ii) \quad \begin{aligned} \mathcal{E}_{n,\lambda}^{(k)}(x+y) &= \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{m,\lambda}^{(k)}(x) (y)_{n-m,\lambda} \\ &= \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{m,\lambda}^{(k)}(y) (x)_{n-m,\lambda} \end{aligned}$$

and

$$(iii) \quad \mathcal{E}_{n,\lambda}^{(k)}(x+y) = \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{m,\lambda}^{(k)}(x+y) (x+y)_{n-m,\lambda}.$$

By (8) and (15), we get

$$(17) \quad \begin{aligned} \text{Ei}_{k,\lambda}(\log_{\lambda}(1+t)) &= \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda} (\log_{\lambda}(1+t))^n}{(n-1)! n^k} \\ &= \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n^{k-1}} \frac{1}{n!} (\log_{\lambda}(1+t))^n \\ &= \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n^{k-1}} \sum_{m=n}^{\infty} S_{1,\lambda}(m,n) \frac{t^n}{n!} \\ &= \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n^{k-1}} S_{1,\lambda}(m,n) \frac{t^m}{m!} \\ &= t \sum_{m=0}^{\infty} \left( \sum_{n=1}^{m+1} \frac{(1)_{n,\lambda}}{n^{k-1}} \frac{S_{1,\lambda}(m+1,n)}{m+1} \right) \frac{t^m}{m!}. \end{aligned}$$

Using (16) and (17), we write

$$\begin{aligned}
& \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(k)}(x) \frac{t^n}{n!} \\
&= \frac{2}{t(e_\lambda(t)+1)} e_\lambda^x(t) \text{Ei}_{k,\lambda}(\log_\lambda(1+t)) \\
&= \sum_{l=0}^{\infty} \mathcal{E}_{l,\lambda}^{(k)}(x) \frac{t^l}{l!} \sum_{m=0}^{\infty} \frac{1}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) \frac{t^m}{m!} \\
(18) \quad &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} \frac{1}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) \mathcal{E}_{n-m,\lambda}(x) \right) \frac{t^n}{n!}.
\end{aligned}$$

Therefore by (18), we obtain the following theorem.

**Theorem 2.1.** For  $n \geq 0$ , we have

$$\mathcal{E}_{n,\lambda}^{(k)}(x) = \sum_{m=0}^n \frac{\binom{n}{m}}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) \mathcal{E}_{n-m,\lambda}(x).$$

From (16) and (17), we write as

$$\begin{aligned}
& \sum_{n=0}^{\infty} \left( \mathcal{E}_{n,\lambda}^{(k)}(x+1) + \mathcal{E}_{n,\lambda}^{(k)}(x) \right) \frac{t^n}{n!} \\
&= \frac{2}{t} \text{Ei}_{k,\lambda}(\log_\lambda(1+t)) e_\lambda^x(t) \\
&= 2 \sum_{m=0}^{\infty} \frac{1}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\
(19) \quad &= 2 \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} \frac{1}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) (x)_{n-m,\lambda} \right) \frac{t^n}{n!}.
\end{aligned}$$

Therefore, by comparing the coefficients of  $\frac{t^n}{n!}$  on both sides of (19), we have the following theorem.

**Theorem 2.2.** For  $n \geq 0$ , we have

$$\mathcal{E}_{n,\lambda}^{(k)}(x+1) + \mathcal{E}_{n,\lambda}^{(k)}(x) = 2 \sum_{m=0}^n \frac{\binom{n}{m}}{m+1} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda}}{j^{k-1}} S_{1,\lambda}(m+1, j) (x)_{n-m,\lambda}.$$

From (16) and (17), we write

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(k)}(x) \frac{t^n}{n!} (e_\lambda(t)+1) = \frac{2}{t} \text{Ei}_{k,\lambda}(\log_\lambda(1+t))$$

and

$$(20) \quad \begin{aligned} & \sum_{m=0}^{\infty} \left( \sum_{l=0}^m \binom{m}{l} \mathcal{E}_{m-l,\lambda}^{(k)}(x) (1)_{l,\lambda} + \mathcal{E}_{m,\lambda}^{(k)}(x) \right) \frac{t^m}{m!} \\ &= 2 \sum_{m=0}^{\infty} \left( \sum_{n=1}^{m+1} \frac{(1)_{n,\lambda}}{n^{k-1}} \frac{S_{1,\lambda}(m+1, n)}{(m+1)} \right) \frac{t^m}{m!}. \end{aligned}$$

By (20), we obtain the following theorem.

**Theorem 2.3.** *For  $n \geq 0$ , we have*

$$\sum_{l=0}^m \binom{m}{l} \mathcal{E}_{m-l,\lambda}^{(k)}(x) (1)_{l,\lambda} + \mathcal{E}_{m,\lambda}^{(k)}(x) = 2 \sum_{n=1}^{m+1} \frac{(1)_{n,\lambda}}{n^{k-1}} \frac{S_{1,\lambda}(m+1, n)}{m+1}.$$

For  $x = 0$ , and by replacing  $t$  by  $e_\lambda(t) - 1$  in (16), we get

$$\sum_{m=0}^{\infty} \mathcal{E}_{m,\lambda}^{(k)} \frac{(e_\lambda(t) - 1)^m}{m!} = 2 \frac{\text{Ei}_{k,\lambda}(\log_\lambda(e_\lambda(t)))}{(e_\lambda(t) - 1)(e_\lambda(e_\lambda(t) - 1) + 1)}$$

and thus

$$(21) \quad \sum_{n=0}^{\infty} \sum_{m=0}^n \mathcal{E}_{m,\lambda}^{(k)} S_{2,\lambda}(n, m) \frac{t^n}{n!} = \frac{1}{t^2} \frac{t^2}{(e_\lambda(t) - 1)^2} \frac{2(e_\lambda(t) - 1)}{e_\lambda(e_\lambda(t) - 1) + 1} \text{Ei}_{k,\lambda}(t).$$

The left hand side of above equation (21) as

$$(22) \quad \sum_{n=0}^{\infty} n(n-1) \sum_{m=0}^{n-2} \mathcal{E}_{m,\lambda}^{(k)} S_{2,\lambda}(n-2, m) \frac{t^n}{n!}, \text{ with } n \geq 2.$$

The right hand side of above equation (21) as

$$(23) \quad \begin{aligned} & \sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^2 \frac{t^m}{m!} \sum_{j=1}^{\infty} \frac{(1)_{j,\lambda}}{j^{k-1}} \frac{t^j}{j!} \sum_{l=0}^{\infty} \mathcal{G}_{l,\lambda} \frac{(e_\lambda - 1)^l}{l!} \\ &= \sum_{r=1}^{\infty} \sum_{j=1}^r \binom{r}{j} \mathcal{B}_{r-j,\lambda}^2 \frac{(1)_{j,\lambda}}{j^{k-1}} \frac{t^r}{r!} \sum_{l=0}^{\infty} \mathcal{G}_{l,\lambda} \sum_{i=l}^{\infty} S_{2,\lambda}(i, l) \frac{t^i}{i!} \\ &= \sum_{n=1}^{\infty} \sum_{r=1}^n \binom{n}{r} \sum_{j=1}^r \binom{r}{j} \mathcal{B}_{r-j,\lambda}^2 \frac{(1)_{j,\lambda}}{j^{k-1}} \sum_{l=0}^i \mathcal{G}_{l,\lambda} S_{2,\lambda}(i, l) \frac{t^n}{n!}, \text{ with } n \geq 2. \end{aligned}$$

By (22) and (23), we have the following theorem.

**Theorem 2.4.** *For  $n \geq 2$ , we have*

$$\begin{aligned} & n(n-1) \sum_{m=0}^{n-2} \mathcal{E}_{m,\lambda}^{(k)} S_{2,\lambda}(n-2, m) \\ &= \sum_{r=1}^n \binom{n}{r} \sum_{j=1}^r \binom{r}{j} \mathcal{B}_{r-j,\lambda}^2 \frac{(1)_{j,\lambda}}{j^{k-1}} \sum_{l=0}^i \mathcal{G}_{l,\lambda} S_{2,\lambda}(i, l). \end{aligned}$$

It is known that the following an equation

$$\frac{-2}{(e_\lambda(t) + 1) e_\lambda(t)} = \frac{2}{e_\lambda(t) + 1} - \frac{2}{e_\lambda(t)}.$$

From here, we write as

$$\begin{aligned} & \frac{-2 \text{Ei}_{k,\lambda}(\log_\lambda(1+t)) e_\lambda^x(t)}{t (e_\lambda(t) + 1) e_\lambda(t)} \\ &= \frac{2 \text{Ei}_{k,\lambda}(\log_\lambda(1+t)) e_\lambda^x(t)}{t (e_\lambda(t) + 1)} - \frac{2 \text{Ei}_{k,\lambda}(\log_\lambda(1+t)) e_\lambda^x(t)}{t e_\lambda(t)}. \end{aligned}$$

It follows from (16), (18) and (19) that

$$\begin{aligned} (24) \quad & \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(k)}(x+1) \frac{t^n}{n!} - 2 \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} \sum_{j=1}^{m+1} \frac{(1)_{j,\lambda} S_{1,\lambda}(m+1, j)}{j^{k-1} (m+1)} (x)_{n-m,\lambda} \right) \frac{t^n}{n!} \\ &= - \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}. \end{aligned}$$

By (24), comparing the coefficients of  $\frac{t^n}{n!}$ , we have this recovers Theorem 2.2 again.

From (15), we note that

$$(25) \quad \frac{d}{dx} \text{Ei}_{k,\lambda}(x) = \frac{d}{dx} \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{(n-1)! n^k} x^n = \frac{1}{x} \text{Ei}_{k,\lambda}(x).$$

Thus by (25), we get

$$\begin{aligned} \text{Ei}_{k,\lambda}(x) &= \int_0^x \frac{1}{t} \text{Ei}_{k-1,\lambda}(t) dt = \underbrace{\int_0^x \frac{1}{t} \int_0^t \cdots \frac{1}{t} \int_0^t \frac{1}{t}}_{(k-2) \text{ times}} \text{Ei}_{1,\lambda}(x) \underbrace{dt \cdots dt}_{(k-2) \text{ times}} \\ &= \underbrace{\int_0^x \frac{1}{t} \int_0^t \cdots \frac{1}{t} \int_0^t \frac{1}{t}}_{(k-2) \text{ times}} (e_\lambda(t) - 1) \underbrace{dt \cdots dt}_{(k-2) \text{ times}}, \end{aligned}$$

where  $k$  is a positive integer with  $k \geq 2$ .

From (12), (16) and (25), for  $k = 2$ ;

$$\begin{aligned} (26) \quad & \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(2)}(x) \frac{t^n}{n!} = \frac{2}{t (e_\lambda(t) + 1)} \int_0^t \frac{t}{\log_\lambda(1+t)} (1+t)^{\lambda-1} dt \\ &= \frac{2}{t (e_\lambda(t) + 1)} \sum_{m=0}^{\infty} \frac{b_{m,\lambda} (\lambda-1) t^m}{m+1} \frac{t^m}{m!} \\ &= \sum_{l=0}^{\infty} \mathcal{E}_{l,\lambda}^{(k)} \frac{t^l}{l!} \sum_{m=0}^{\infty} \frac{b_{m,\lambda} (\lambda-1) t^m}{m+1} \frac{t^m}{m!} \end{aligned}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{n-m,\lambda}^{(k)} \frac{b_{m,\lambda}(\lambda-1)}{m+1} \frac{t^n}{n!}.$$

From (26), we have the following theorem.

**Theorem 2.5.** *For  $n \geq 0$ , we have*

$$\mathcal{E}_{n,\lambda}^{(2)}(x) = \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{n-m,\lambda}^{(k)} \frac{b_{m,\lambda}(\lambda-1)}{m+1}.$$

### References

- [1] N. K. Boyadzhiev, *Polyexponentials*, arxiv:07710.1330 [Math. NT].
- [2] L. Carlitz, *A note on Bernoulli and Euler polynomials of the second kind*, Scripta Math. **25** (1961), 323–330.
- [3] ———, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51–88.
- [4] U. Duran and M. Acikgoz, *On the degenerate Gould-Hopper based full degenerate Bell polynomials*, J. Math. Comp. Sci. **21** (2020), 243–257.
- [5] D. S. Kim and T. Kim, *Higher order degenerate Euler polynomials*, App. Math. Sci. **9** (2015), no. 2, 57–73.
- [6] ———, *A note on polyexponential and unipoly functions*, Russ. J. Math. Phys. **26** (2019), no. 1, 40–49. <https://doi.org/10.1134/S1061920819010047>
- [7] ———, *A note on a new type of degenerate Bernoulli numbers*, Russ. J. Math. Phys. **27** (2020), no. 2, 227–235. <https://doi.org/10.1134/S1061920820020090>
- [8] T. Kim and D. S. Kim, *Degenerate polyexponential functions and degenerate Bell polynomials*, J. Math. Anal. Appl. **487** (2020), no. 2, 124017, 15 pp. <https://doi.org/10.1016/j.jmaa.2020.124017>
- [9] T. Kim, D. S. Kim, L. Jang, and H. Lee, *Jindalrae and Gaenari numbers and polynomials in connection with Jindalrae-Stirling numbers*, Adv. Difference Equ. **2020** (2020), Paper No. 245, 19 pp. <https://doi.org/10.1186/s13662-020-02701-1>
- [10] T. Kim, D. S. Kim, H. Y. Kim, and L.-C. Jang, *Degenerate poly-Bernoulli numbers and polynomials*, Informatica **31** (2020), 2–8.
- [11] T. Kim, D. S. Kim, Y. H. Kim, and J. Kwon, *Degenerate Stirling polynomials of the second kind and some applications*, Symmetry **11**.1046 (2019), 1–11.
- [12] T. Kim, D. S. Kim, J. Kwon, and H. Y. Kim, *A note on degenerate Genocchi and poly-Genocchi numbers and polynomials*, J. Inequal. Appl. **2020** (2020), Paper No. 110, 13 pp. <https://doi.org/10.1186/s13660-020-02378-w>
- [13] T. Kim, D. S. Kim, J. Kwon, and H. Lee, *Degenerate polyexponential functions and type 2 degenerate poly-Bernoulli numbers and polynomials*, Adv. Difference Equ. **2020** (2020), Paper No. 168, 12 pp. <https://doi.org/10.1186/s13662-020-02636-7>
- [14] D. Lim, *Some identities of degenerate Genocchi polynomials*, Bull. Korean Math. Soc. **53** (2016), no. 2, 569–579. <https://doi.org/10.4134/BKMS.2016.53.2.569>
- [15] H. M. Srivastava and J. Choi, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier, Inc., Amsterdam, 2012. <https://doi.org/10.1016/B978-0-12-385218-2.00001-3>

BURAK KURT  
 MATHEMATICS OF DEPARTMENT  
 EDUCATION FACULTY  
 AKDENIZ UNIVERSITY  
 ANTALYA TR-07058, TURKEY  
 Email address: burakkurt@akdeniz.edu.tr